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PROBABILITY

Example

1. From a well shuffled pack of 52 cards, a card is drawn at random. Find

the probability that it is either a spade or a queen.

View Text Solution

2. Two dice are thrown. Find the probability of getting a prime number on

one dice and even number on the other dice.

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vgB3W0gzWY5g
https://dl.doubtnut.com/l/_FiJaLmPPAiSE


3. Which of the following are equal?

A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

A = {2, 4, 6} and B = {1, 3, 5, 6}

A = {x : x = 4n, n ∈ N, n ≤ 3} and B = {x : x = 2n, n ∈ N and n

A = {a, e, I, o, u} and B = {a, e, I, {o, u}}

4. Given  is a natural number} 

A =  Is an even number  

then 

Watch Video Solution

ξ = {x : x

{x : x , x ∈ N}

(B ∩ A) = (x − A) =

https://dl.doubtnut.com/l/_FiJaLmPPAiSE
https://dl.doubtnut.com/l/_mHHI1FxleM3P
https://dl.doubtnut.com/l/_CzCWy6ZvWOLv


5. If  


 


 then find (A-B) '

Watch Video Solution

ξ = {2, 3, 4, 5, 6, 7, 8, 9, 10, 11}

A = {3, 5, 7, 9, 11}

B = {7, 8, 9, 10, 11}

6. If P and Q any two sets , then Q - P=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Q ∪ P '

Q ∩ P

Q ∪ P

Q ∩ P '

7. Let P and Q be two sets then what is  equal to?(P ∩ Q' ) ∪ (P ∪ Q)'

https://dl.doubtnut.com/l/_EWpy4lsxZnvz
https://dl.doubtnut.com/l/_L6akCxZbDrpR
https://dl.doubtnut.com/l/_NlrGrvcmKASp


View Text Solution

8. If n  then find n 

Watch Video Solution

(A) = 120, n(B) = 250 and n(A − B) = 52,

(A ∪ B)

9. If  find A 

Watch Video Solution

A = {x, y} and B = {3, 4, 5, 7, 9} and C = {4, 5, 7, 6, 7},

× (B ∩ C).

10. In a certain group of 36 people. Only 18 are wearing hats and only 24

are wearing sweaters. If six people are wearing neither a hat a sweater ,

then how many people are wearing both a hat and a sweater?

Watch Video Solution

https://dl.doubtnut.com/l/_NlrGrvcmKASp
https://dl.doubtnut.com/l/_YT1Iu4ESOXLy
https://dl.doubtnut.com/l/_t7OjR5xFytwD
https://dl.doubtnut.com/l/_bmZHIsst4bgi


Solved Examples

1. A bag contains 27 balls. Ten are red , 2 are green and the rest are white.

Anine takes out a ball from the bag at random. What is the probability

that she takes 

a white ball

View Text Solution

2. A bag contains 27 balls. Ten are red , 2 are green and the rest are white.

Anine takes out a ball from the bag at random. What is the probability

that she takes 

a ball that is red or green

View Text Solution

3. Each morning I walk to work or take a texi to work. The probability that

I walk to work is . What is the probability that I take a taxi ?
3

5

https://dl.doubtnut.com/l/_S3tigZPV8Dij
https://dl.doubtnut.com/l/_xJfr2iJvOYS3
https://dl.doubtnut.com/l/_2SORrsvO7uao


View Text Solution

4. When two coins are tossed together, what is the probability of getting

at least one tail ?

View Text Solution

5. Sid draws a card from a pack of cards, replaces it , shuffles the pack and

then another card. What is the probability that the cards are both aces ?

View Text Solution

6. There are seven white and one brown eggs in an egg box. Ruchira

decides to make a two-egg omeltte. She takes out each egg from the box

without looking at its colour. What is the probability that Ruchira gets an

omellete made from 

two white eggs

W t h Vid S l ti

https://dl.doubtnut.com/l/_2SORrsvO7uao
https://dl.doubtnut.com/l/_ZRP2oXw4pAlZ
https://dl.doubtnut.com/l/_zMRXIw7JySui
https://dl.doubtnut.com/l/_CkmQC7g4Zl4Q


Question Bank

Watch Video Solution

7. There are seven white and one brown eggs in an egg box. Ruchira

decides to make a two-egg omeltte. She takes out each egg from the box

without looking at its colour. What is the probability that Ruchira gets an

omellete made from 

one white and one brown egg

Watch Video Solution

8. There are seven white and one brown eggs in an egg box. Ruchira

decides to make a two-egg omeltte. She takes out each egg from the box

without looking at its colour. What is the probability that Ruchira gets an

omellete made from 

two brown eggs

Watch Video Solution

https://dl.doubtnut.com/l/_CkmQC7g4Zl4Q
https://dl.doubtnut.com/l/_6F2AvThQTs4d
https://dl.doubtnut.com/l/_AIMh7L1mH1Rz


1. In a test, the marks obtained by 15 students are 34, 37, 44, 39, 45, 46, 35,

42, 48, 40, 39, 33, 43, 47, 44. The probability that a pupil chosen at random

passed the test, if the passing marks are 40 is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

8

15

3

5

7

15

11

15

2. Which of the following pairs of events is not mutually exclusive? 

A. Throwing a number greater than 4 with a dice/Throwing a number

less than 4 with a dice.

https://dl.doubtnut.com/l/_f0VMeNpx3VYx
https://dl.doubtnut.com/l/_f0zNNfKZCihn


B. Drawing a red card from a pack of cards /Draw a club from a pack of

cards. 

C. Drawing a diamond from a pack of cards/Drawing an ace from a

pack of cards.

D. Drawing a vowel card from a set of alphabet cards/Drawing a

consonant card from a set of alphabet cards. 

Answer: C

Watch Video Solution

3. An electronic machine choses random numbers from 1 to 30. What is

the probability that the number chosen is a perfect square?

A. 

B. 

C. 

11

30

1

10

1

6

https://dl.doubtnut.com/l/_f0zNNfKZCihn
https://dl.doubtnut.com/l/_Vsd1l6etwKHj


D. 

Answer: D

Watch Video Solution

4

30

4. In a simultaneous toss of two coins, find the probability of getting two

tails.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

2

1

4

3

4

1

3

https://dl.doubtnut.com/l/_Vsd1l6etwKHj
https://dl.doubtnut.com/l/_n252ZfkhUCpW


5. Three coins are tossed simultaneously. Find the probability of at least

one head and one tail. 

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

1

2

1

4

3

4

6. In a single throw of two dice, what is the probability of getting a total

of 11.

A. 

B. 

C. 

1

9

1

18

1

12

https://dl.doubtnut.com/l/_EvdqE29DBd41
https://dl.doubtnut.com/l/_YK1LYiOF2ea5


D. 

Answer: B

View Text Solution

35

36

7. A bag contains 4 blue, 5 red and 7 green balls. If 4 balls are drawn one

by one with replacement, what is the probability that all are blue?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1

16

1

4

1

256

1

64

https://dl.doubtnut.com/l/_YK1LYiOF2ea5
https://dl.doubtnut.com/l/_PCSnbodRpy50


8. The set S’ = {n : n is an integer, }. If an element of S is

selected at random, find the probability that it does not contain the digit

'2' at all.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 ≤ n ≤ 50

7

25

18

25

17

50

7

10

9. In a single throw of two dice, find the probability of getting a doublet

of odd numbers.

A. 

B. 

1

9

1

18

https://dl.doubtnut.com/l/_r2VSgoVK1YZ5
https://dl.doubtnut.com/l/_8LeeaPWeJlhK


C. 

D. 

Answer: D

Watch Video Solution

1

36

1

12

10. What is the probability that a card drawn at random from a pack of

playing cards is either a king or a jack?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

1

13

2

13

3

13

4

9

https://dl.doubtnut.com/l/_8LeeaPWeJlhK
https://dl.doubtnut.com/l/_yMWjTPKYQFgj
https://dl.doubtnut.com/l/_PnLW72DYSCOP


11. Two dice are thrown. Find the odds in favour of getting the sum 4.

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

1: 11

11: 1

4: 11

11: 4

12. A machine generates a two-digit number randomly. Find the

probability that the number generated is either less than 25 or greater

than 85.

A. 

B. 

C. 

27

89

28

89

28

90

https://dl.doubtnut.com/l/_PnLW72DYSCOP
https://dl.doubtnut.com/l/_mhk2OUqNKoKs


D. 

Answer: D

Watch Video Solution

29

90

13. From a pack of cards, two are drawn, the first being replaced before

the second is drawn. Find the. probability that the first is a club and the

second is a red card.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

1

52

1

26

1

8

4

13

https://dl.doubtnut.com/l/_mhk2OUqNKoKs
https://dl.doubtnut.com/l/_YcxXSE3rRnSW
https://dl.doubtnut.com/l/_RwLgmvW7JEmM


14. If A and B are two mutually exclusive and exhaustive events with P(B) =

3 P(A), then what is the value of  ?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

P(¯̄̄B)

3

4

1

4

1

3

2

3

15. The probability that a student passes in mathematics is 4/9 and that

he passes in physics is 2/5. Assuming that passing in mathematics and

physics are independent of each other, what is the probability that he

passes in mathematics but fails in physics ?

A. 

B. 

4

15

8

45

https://dl.doubtnut.com/l/_RwLgmvW7JEmM
https://dl.doubtnut.com/l/_aVbOYQWeuwTf


C. 

D. 

Answer: A

Watch Video Solution

26

45

19

45

16. An aircraft has three engines A, B and C. The aircraft crashes if all the

three engines fail. The probabilties of failure are 0.03, 0.02 and 0.05 for

engines A, B and C respectively. What is probability that the aircraft will

not crash ?

A. 

B. 

C. 

D. 

Answer: C

0.00003

0.90

0.99997

0.90307

https://dl.doubtnut.com/l/_aVbOYQWeuwTf
https://dl.doubtnut.com/l/_gaORtrajG54n


Watch Video Solution

17. A card is drawn from an ordinary pack of 52 cards and a gambler bets

that, it is a spade or an ace. What are the odds against his wining this

bet?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9: 4

4: 9

5: 9

9: 5

18. A problem in statistics is given to four students A,   B, C and D. Their

chances of solving it are  and  respectively. What is the

probability that the problem will be solved?

, ,
1

3

1

4

1

5

1

6

https://dl.doubtnut.com/l/_gaORtrajG54n
https://dl.doubtnut.com/l/_i3VlKgofHjVo
https://dl.doubtnut.com/l/_Rb0DrJZA9KVd


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1

3

2

3

4

5

19. Aman A speaks truth in 80% of the cases and another man B in 90% of

the cases. While stating the same fact, what is the probability that they

contradict?

A. 

B. 

C. 

D. None of these

37

50

13

50

16

50

https://dl.doubtnut.com/l/_Rb0DrJZA9KVd
https://dl.doubtnut.com/l/_VtRrjzgdMcwx


Self Assessment Sheet

Answer: B

Watch Video Solution

20. From a bag containing 60 standard and 40 substandard articles, two

articles are chosen at random. What is the probability that one of them is

standard and the other substandard?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

×
60

100

40

100

×
60

100

39

100

16

33

24 %

https://dl.doubtnut.com/l/_VtRrjzgdMcwx
https://dl.doubtnut.com/l/_kkJuXKpCyxFi
https://dl.doubtnut.com/l/_gnNVuQFaauah


1. Each letter of the word "INDEPENDENT" is written on individual cards.

The cards are placed in a box and mingled thoroughly. A card with letter

'N' is removed from the box. Now find the probability of picking a card

with a consonant?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

7

11

7

10

3

5

2

5

2. In throwing of two dice, what is the number of exhaustive events ?

A. 6

B. 12

https://dl.doubtnut.com/l/_gnNVuQFaauah
https://dl.doubtnut.com/l/_wPDvBYWSHolb


C. 36

D. 18

Answer: C

Watch Video Solution

3. Three coins are tossed simultaneously. What is the probability that

head and tail show alternately. (i.e., HTH or THT )?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

8

1

4

1

8

1

2

https://dl.doubtnut.com/l/_wPDvBYWSHolb
https://dl.doubtnut.com/l/_FkTscg4iSXZH
https://dl.doubtnut.com/l/_P9vVAgqR3YrD


4. Two cards are drawn from a well shuffled pack of 52 cards without

replacement. The probability of drawing a queen and a jack is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

16

663

2

663

4

663

8

663

5. In a single throw of two dice, the probability of getting a total of 3 or 5

is

A. 

B. 

C. 

1

3

5

6

1

9

https://dl.doubtnut.com/l/_P9vVAgqR3YrD
https://dl.doubtnut.com/l/_Kt0GF5wGl479


D. 

Answer: D

Watch Video Solution

1

6

6. A husband and a wife appear in a interview for two vacancies in the

same post. The probability of husband's selection is  and that of wife's

is . What is the probability that none of them will be selected.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

7
1

6

2

13

5

7

1

42

41

42

https://dl.doubtnut.com/l/_Kt0GF5wGl479
https://dl.doubtnut.com/l/_42xRc0VUpsZ9
https://dl.doubtnut.com/l/_NKZLn8ZpLD58


7. A bag contains x red balls, (x + 5) blue balls and (3x + 10) white balls. If

the probability of drawing a blue ball is , what is the number of white

balls?

A. 15

B. 20

C. 35

D. 55

Answer: D

Watch Video Solution

2

9

8. A letter is chosen at random from the letters in the word

"PROBABILITY". What is the probability that the letter will be a B or an I?

A. 

B. 

5

11

4

11

https://dl.doubtnut.com/l/_NKZLn8ZpLD58
https://dl.doubtnut.com/l/_EwxoB9CKEs2B


C. 

D. 

Answer: B

Watch Video Solution

2

11

7

11

9. There are three events A, B, C one of which must and only one can

happen; The odds are 8 to 3 against A, 5 to 2 against B; find the odds

against C.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

43: 34

34: 43

43: 77

77: 43

https://dl.doubtnut.com/l/_EwxoB9CKEs2B
https://dl.doubtnut.com/l/_xnfl7jxm85Q9


Question Bank 30

10. A can solve 80% of the problems given in a book and B can solve 60%.

What is the probability that, at least one of them will solve a problem

selected at random from the book?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12

25

97

100

23

25

11

25

1. If A , B and C are three finite, sets, then what is  equal

to?

[A' ∪ B' ) ∩ C]'

https://dl.doubtnut.com/l/_xnfl7jxm85Q9
https://dl.doubtnut.com/l/_D0j3NAD0pnZf
https://dl.doubtnut.com/l/_49dsLRUDkL3p


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A' ∪ B' ) ∩ C'

A' ∩ (B' ∩ C' )

(A ∩ B) ∪ C'

(A ∩ B) ∩ C

2. If X and Y are any two non-empty sets, then what is (X-Y)' equal to?

A. X'-Y'

B. 

C. 

D. 

Answer: C

Watch Video Solution

X' ∩ Y '

X' ∪ Y

X − Y '

https://dl.doubtnut.com/l/_49dsLRUDkL3p
https://dl.doubtnut.com/l/_V6V5yTjtAbYA


3. Out of 32 persons, 30 invest in National Savings Certificates and 17

invest in shares. What is the number of persons who invest in both?

A. 13

B. 15

C. 17

D. 19

Answer: B

Watch Video Solution

4. If A=P({1, 2}) where P denotes the power set, then which one of the

following is correct?

A. 

B. 

{1, 2} ⊂ A

1 ∈ A

https://dl.doubtnut.com/l/_V6V5yTjtAbYA
https://dl.doubtnut.com/l/_6Q83cmyp5UxL
https://dl.doubtnut.com/l/_jWfcK2vVkrSO


C. 

D. 

Answer: D

Watch Video Solution

ϕ ∈ A

{1, 2} ∈ A

5. Which one of the following statement is correct? 

where P(A) denotes the power set of A.

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

A ∪ P (A) = A

A ∩ P (A) = A

A − P (A) = A

P (A) − {A} = P (A)

https://dl.doubtnut.com/l/_jWfcK2vVkrSO
https://dl.doubtnut.com/l/_zd5x2nCNkZMT
https://dl.doubtnut.com/l/_h6HluDS0C72d


6. If  is the universal set and P is a subset of  then what is

 equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

μ μ

P ∩ (P − μ) ∪ (μ − P )

ϕ

P '

ξ

P

7. If F(n) denotes the set of all divisors of n except 1, what is the least

value of y satisfying ?

A. 1

B. 2

C. 4

[F (20) ∩ F (16)] ⊆ F (y)

https://dl.doubtnut.com/l/_h6HluDS0C72d
https://dl.doubtnut.com/l/_OlcZ1NgfuAKP


D. 8

Answer: C

Watch Video Solution

8. Consider the following for any three non-empty sets, A, B and C. 

 


 

 

Which of the above is/are correct ?

A. only 1

B. 2 and 3

C. 1 and 2

D. 1 and 3

Answer: B

Watch Video Solution

1. A − (B ∪ C) = (A − B) ∪ (A − C)

2. A − B = A − (A ∩ B)

3. A = (A ∩ B) ∪ (A − B)

https://dl.doubtnut.com/l/_OlcZ1NgfuAKP
https://dl.doubtnut.com/l/_RkbpcuK9pMxu


9. Let A and B be two non-empty subsets of a set X. If

, then which one of the following is

correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(A − B) ∪ (B − A) = A ∪ B

A ⊂ B

A ⊂ (X − B)

A = B

B ⊂ A

10. Which one of the following is correct ?

A. 

B. 

A ∪ (B − C) = A⋃ (B ∩ C' )

A − (B ∪ C) = (A ∪ B' ) ∩ C'

https://dl.doubtnut.com/l/_RkbpcuK9pMxu
https://dl.doubtnut.com/l/_n0gVjFciqsJU
https://dl.doubtnut.com/l/_iyRQhMr2VQ6g


C. 

D. 

Answer: B

View Text Solution

A − (B ∩ C) = (A ∩ B' ) ∩ C

A ∩ (B − C) = (A ∩ B) ∩ C

11. If  which one of the

following is correct?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {1, 2, 3}, B = {1, 2} and C = {2, 3},

(A × B) ∩ (B × A) = (A × C) ∩ (B × C)

(A × B) ∩ (B × A) = (C × A) ∩ (C × B)

(A × B) ∪ (B × A) = (A × B) ∪ (B × C)

(A × B) ∪ (B × A) = (A × B) ∪ (A × C)

https://dl.doubtnut.com/l/_iyRQhMr2VQ6g
https://dl.doubtnut.com/l/_uJt6352HZp4J
https://dl.doubtnut.com/l/_li3pcLIsV38d


12. If A and B are finite sets, which of the following is the correct

statement.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n(A − B) = n(A)

n(A − B) = n(B − A)

n(A − B) = n(A) − n(A ∩ B)

n(A − B) = n(B) − n(A ∩ B)

13. Out of 40 children , 30 can swim,27 can play chess and 5 can do

neither. How many children can swim only?

A. 30

B. 22

C. 12

https://dl.doubtnut.com/l/_li3pcLIsV38d
https://dl.doubtnut.com/l/_lfL1ZXxGqT5D


D. 8

Answer: D

Watch Video Solution

14. Which one of the following is correct ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A × (B − C) = (A − B) × (A − C)

A × (B − C) = (A × B) − (A × C)

A × (B − C) = (A × C) − (A × B)

A × (B − C) = (B − A) × (C − A)

https://dl.doubtnut.com/l/_lfL1ZXxGqT5D
https://dl.doubtnut.com/l/_B3iH7nFddSb9


15. Consider the following statements: 

For non empty sets A, B and C 

 

2.  

Which of the statements given above is/are correct?

A. 1 only

B. 2 only

C. Both 1 and 2

D. Neither 1 nor 2

Answer: B

Watch Video Solution

1. A − (B − C) = (A − B) ∪ C

A − (B ∪ C) = (A − B) − C

16. Out of 800 students in a school ,125 played cricket , 220 played football

and 300 played hockey of the total, 28 played both hockey and football ,

70 played cricket and football and 32 played cricket and hockey, 26 played

https://dl.doubtnut.com/l/_EGdYQEVj8kJB
https://dl.doubtnut.com/l/_7dlJN1xud2O5


all the three games . What is the number of students who did not play

any game?

A. 240

B. 169

C. 259

D. 171

Answer: C

Watch Video Solution

17. If  then 

equals

A. 65

B. 47

C. 97

n(A) = 65, n(B) = 32 and n(A ∩ B) = 14, n(AΔB)

https://dl.doubtnut.com/l/_7dlJN1xud2O5
https://dl.doubtnut.com/l/_QAnJbld0riAW


D. 69

Answer: D

Watch Video Solution

18. Two finite sets have m and n elements. The total number of subsets of

the first set is 56 more than the total number of subsets of the second

set. The value of m and n is

A. 7,6

B. 6,3

C. 5,1

D. 8,7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QAnJbld0riAW
https://dl.doubtnut.com/l/_x8KAicuvnazG
https://dl.doubtnut.com/l/_yDl7EHbKIGp4


19. U is a universal set and n  where  and  are subset of 

. If  and 

, then  equals,

A. 40

B. 50

C. 55

D. 60

Answer: C

Watch Video Solution

(U) = 160 A, B C

U n(A) = 50, n(B) = 70, n(B ∪ C) = ϕ, n(B ∩ C) = 15

A ∪ B ∪ C = U n(C)

20. Match List- I with List-II and select the correct answer using the codes

given below for the lists: 

 


https://dl.doubtnut.com/l/_yDl7EHbKIGp4
https://dl.doubtnut.com/l/_kZdPpWT71I67


Self Assessment Sheet 29

Here A' is the complement set of A , E is the universal set and  is an

empty set.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ϕ

A B C D

(a) 4 1 2 3

A B C D

(b) 4 3 2 1

A B C D

(c) 2 3 4 1

A B C D

(d) 2 1 4 3

1. If A and B are subsets of a set X, then what is 

equal to?

A. 

B. 

{A ∩ (X − B)} ∪ B

A ∪ B

A ∩ B

https://dl.doubtnut.com/l/_kZdPpWT71I67
https://dl.doubtnut.com/l/_J2eNHSwNl40I


C. 

D. 

Answer: A

Watch Video Solution

A

B

2. A set constant n elements. The power set of this set contains.

A.  elements

B.  elements

C.  elements

D. n elements

Answer: C

Watch Video Solution

n2

2λ / 2

2n

https://dl.doubtnut.com/l/_J2eNHSwNl40I
https://dl.doubtnut.com/l/_1Pwn2qRZCSaV


3. For non-empty subsets A,B and C of a set X such that ,

which one of the following, is the strongest inference that can be

derived? a)A=B=C b)  c)  d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A ∪ B = B ∩ C

A ⊆ B = C A = B ⊆ C A ⊆ B ⊆ C

A = B = C

A ⊆ B ⇒ C

A = B ⊆ C

A ⊆ B ⊆ C

4. Let  = the set of all triangles , P = the set of all isosceles triangles, Q -

the set of all equilateral triangles , R = the set of all right angled triangles.

What do the sets  represents ?

Watch Video Solution

U

P ∪ Q

https://dl.doubtnut.com/l/_nEVOO31tykKM
https://dl.doubtnut.com/l/_MDAqn8kMdGFv


5. What does the shaded region represent in the figure given below ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(P ∪ Q) − (P ∩ Q)

P ∩ (Q ∪ R)

(P ∩ Q) ∩ (P ∩ R)

(P ∩ Q) ∪ (P ∩ R)

https://dl.doubtnut.com/l/_12Yl4fDPGEtG


6. Let . What is 

 equal to ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A = {(n, 2n) : n ∈ N} and B = {(2n, 3n) : n ∈ N}

A ∩ B

{(n, 6n) : n ∈ z}

{(2n, 6n) : n ∈ z}

{(n, 3n) : n ∈ z}

ϕ

7. While preparing the progress reports of the students the class teacher

found that 70% of the students passed in Hindi , 80 % passed English and

only 65% passed in both the subject . Find out the percentage of

students who failed in both the subject.

https://dl.doubtnut.com/l/_12Yl4fDPGEtG
https://dl.doubtnut.com/l/_nG6dutnDCBEx
https://dl.doubtnut.com/l/_eZULQhhnijqI


A. 0.15

B. 0.2

C. 0.3

D. 0.35

Answer: A

Watch Video Solution

8. In the
cinema set of a movie, 125 mechanical aliens were created. Some

of these
 aliens had peculiar features. 40 had two noses, 30 had three

legs, 20 had
four ears, 10 had two noses and three legs, 12 had three legs

and four ears,
 5 had two noses and four ears and 3 had all the three

unusual features. How
 many were there without any of these unusual

features?
(a) 5 (b) 35 (c) 80 (d) None of these

A. 5

B. 35

https://dl.doubtnut.com/l/_eZULQhhnijqI
https://dl.doubtnut.com/l/_4eTkJPoDX8Tk


C. 80

D. None of these

Answer: D

Watch Video Solution

9. If A and B are non empty sets and A' and B' represents their

compliments respectively, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A − B = A' − B'

A − A' = B − B'

A − B = B' − A'

A − B' = A' − B

https://dl.doubtnut.com/l/_4eTkJPoDX8Tk
https://dl.doubtnut.com/l/_OKEN7mk7TyoV
https://dl.doubtnut.com/l/_eL0PqarSgbbU


10. Let  be the set of non-negative integers  be the set of non-

positive integers Z the set of integers, E the set of even integers and P

the set of prime number. Then,

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ZN Zp

E ∩ P = ϕ

ZN ∩ ZP = ϕ

Z − ZN = ZP

ZNΔZP = Z − {0}

https://dl.doubtnut.com/l/_eL0PqarSgbbU

